Efficiency vs Dxy |
1.2

efficiency vs dxy
o
Pty

o
o))
[

o
~
[

O-IIII:IIII:IIII:IIII.IIII:IIII:IIII:IIII

0 S15 210 =5 0 5 10 15 20
TP dxy (cm)

| Efficiency vs Dz | —=— DQM_V0001_R000000001__Global__CMSSW_X_Y_Z RECO

N 0.05
o

YT NSRS NS T N ——

2 - 5 5 5 5 5

§ 004

O r : : : . .

$9.035 Froenreree AR R L A A

o - : : : : :
R S B I 1 S s S

Y SURURTS VR M B A S S
Y3 AR SRS 8 11 TS T
CYCET RPRRS SSE S 11 H R

0,00 b b

0008+t
Q

Ratio

S e o o 1 e e

930 20 <10 0 10 20 30
TP dz (cm)

0.9



	Contents
	Page 1


